1/13 Monday, January 13, 2020 13:51

From Last time: industand
$$(\beta(z) - \beta(z_0))$$
, $Z_0 \in C$.
- poleo = inflice pts, double poleo
- red. then \Rightarrow # poled = # Zeroes in D
 $z_0 = \beta(z) - \beta(z_0)$ how two zeroes. Z_0 is one $z_0 = z_0$ is another one.
two zeroes if $Z_0 \neq -Z_0$ now A (equily $2z_0 \notin A$).
if $Z_0 = -Z_0$ Z_0 is a double zero, since $2z_0 \notin A$.
if $Z_0 = -Z_0$ Z_0 is a double zero, since $2z_0 \notin A$.
if $z_0 = -Z_0$ Z_0 is a double zero, since $2z_0 \notin A$.
if $z_0 = -Z_0$ Z_0 is a double zero, since $2z_0 \notin A$.
if $z_0 = -Z_0$ Z_0 is a double zero, since $2z_0 \notin A$.
if $z_0 = -Z_0$ $(\beta(z_0) - \beta(z_0))^{n_z}$
 $\frac{f(z)}{z_0 + z_0}$ holomorphic, no polea $z_0 = f(z) \notin C(\beta(z_0))$.
least time: $(\beta'(z_0)^2 = C(\beta(z_0 - \beta(\frac{w_0}{z_0}))(\beta(z_0 - \beta(\frac{w_0}{z_0})))$.

Lattices to elliptic curves.

$$\begin{cases} \mathcal{C}(\mathcal{Z}) := \frac{1}{\mathcal{Z}^2} + \sum_{\substack{W \in \Lambda \\ W \neq 0}} \left(\frac{1}{(\mathcal{Z}^{-W})^2} - \frac{1}{W^2} \right) & (\text{ do since computation & compact coefficients,}) \\ \frac{1}{W^2} \left(\frac{1}{(1 - \frac{2}{W})^2} - 1 \right) & (\text{ do since computation & compact coefficients,}) \\ = \frac{1}{\mathcal{Z}^2} + \sum_{\substack{W \in \Lambda \\ W \neq 0}} \sum_{m=1}^{\infty} (2m+1) \frac{\mathcal{Z}^{2m}}{W^{2m+2}} & \text{by cancelling rel}^n s \\ \text{from } W \mathcal{L} - W \text{ in } \Lambda. \end{cases}$$

Page 1

$$= \frac{1}{Z^2} + \sum_{m=1}^{\infty} \left(\sum_{\substack{\omega \in \Lambda \\ \omega \neq 0}} \frac{1}{\omega^{2m+2}} \right) (2m+1) Z^{2m}$$

$$G_{2m+2} \left(\Lambda \right) \quad \text{the eisenstein series of weight 2m+2.}$$

$$\Rightarrow P(Z) = \frac{1}{Z^2} + \sum_{m=1}^{\infty} (2m+1) G_{2m+2}(\Lambda) Z^{2m} \qquad \text{larment Series.}$$

$$P(z) = z^{-2} + 3 G_{4} z^{2} + \cdots \\
 P(z)^{3} = \cdots$$

$$\Rightarrow (p'(z))^2 - 4(p(z))^3 + 60 G_4 p(z) + 140 G_6 = 0$$

so
$$(= 4)$$

Thue $(\mathcal{P}(z)^2 = 4(\mathcal{P}(z))^5 - 606_4 \mathcal{P}(z) - 1406_6 g_2$
 $g_2 g_3$

$$\frac{\text{Thm}}{\chi} \quad \exists \text{ isom (bij of pts)} \qquad \mathbb{C}^{2}$$

$$\frac{\mathbb{C}}{\Lambda} \xrightarrow{\psi} \quad E = \begin{cases} (x, y) &: y^{2} = 4x^{3} - g_{2}x - g_{3} \end{cases}$$

$$Z \quad \longmapsto \quad (\mathbb{P}(Z), \mathbb{P}'(Z)).$$

$$(almost: for \quad z \in \Lambda \quad (z=o), \quad map \quad is \quad undefined).$$

Q' is
$$P'(a) = Y?$$
 We know $(P'(a))^2 = Y^2$, so either

$$P'(a) = y$$
 or $P'(a) = -y$, in which case $P'(-a) = y$
and $P(-a) = P(a)$ still.

•
$$\phi$$
 is injective: suppose $\phi(z_1) = \phi(z_2)$. Consider $\mathcal{P}(Z) - \mathcal{P}(Z_1)$.
this has two zeroes since it has two pulls. Z_1 is a solution,
and so is $-Z_1$. also, Z_2 and $-Z_2$ are so hubbers.

$$\begin{array}{l} (\text{onsider two cases:} \\ (1) \quad \mathbb{Z}_{1} = -\mathbb{Z}_{1} \mod \mathbb{A} \quad \text{Them } \mathbb{Z}_{1} \text{ is a solu of order } 2, \text{ so} \\ \qquad \mathbb{Z}_{1} \text{ is only solution so } \mathbb{Z}_{1} = \mathbb{Z}_{2}. \\ (2) \quad \mathbb{Z}_{1} \neq -\mathbb{Z}_{1} \mod \mathbb{A}. \quad \text{Then eider } \mathbb{Z}_{2} = \mathbb{Z}_{1} \text{ or } \mathbb{Z}_{2} = -\mathbb{Z}_{1} \pmod{\mathbb{A}}. \\ \qquad \text{in the lefter case, } \mathbb{P}'(\mathbb{Z}_{2}) = -\mathbb{P}'(\mathbb{Z}_{1}). \text{ This contradicty} \\ \quad d(\mathbb{Z}_{1}) = \phi(\mathbb{Z}_{2}), \text{ so } \mathbb{Z}_{2} = \mathbb{Z}_{1}, \text{ unless } \mathbb{P}'(\mathbb{Z}_{1}) = 0 = \mathbb{P}'(\mathbb{Z}_{2}). \\ \mathbb{P}'(\mathbb{Z}) \text{ has } \text{ s zeroes, } \frac{\mathbb{W}_{1}}{\mathbb{Z}}, \frac{\mathbb{W}_{1}}{\mathbb{Z}}, \frac{\mathbb{W}_{1} + \mathbb{W}_{2}}{\mathbb{Z}} \in \mathbb{Z}_{1} \neq \mathbb{Z}, \mod \mathbb{A} = \mathbb{Z}_{2}, \notin \mathbb{A}, \\ \quad \text{ so this control happen.} \end{array}$$

1. Why is, it called an elliptic curve?
Ellipse:
$$\frac{x^2}{\alpha^2} + \frac{y^2}{b^2} = 1$$

are length $\int_0^b \sqrt{1+f(e)^2} \, dt$ $f(x) = y = \pm \int_{b^2} (1-\frac{x^2}{\alpha^2})$
 $\int_0^b \frac{1}{\sqrt{(1-x^2)(1-(1-b^2)x^2)}} \, dx$ no closed form.
Def un elliptic integral is $\int_0^1 R(x,y) \, dx$, where $y^2 = \text{cubic or } y^2$ over the integral is $\int_0^1 R(x,y) \, dx$.

Page 3

 \Rightarrow t = $\mathcal{O}(I(t))$, \mathcal{O} is inverse function to I.

2. group structure on
$$E = \int (x_{1y}) : y^2 = 4x^3 - g_2 x - g_3$$
.
given by group structure on C/χ and bijection ϕ .